INEDNELE
HOXn( kmOETEMMEEIEZ( mOBTELELL,
@ 9.08km = @  4.42km
@ 0.19km = 31.17km
® 3.006km = @ 90.989km
@ 70.6lkm = 0.746km
® 6.405km = @ 40.016km
® 0.5km = @ 0.316km
HOFD( )mOBETENLNLERIE( )kmOETELILL,
® 1800m = @  450m
@ 69103m = @ 806Im
® 40008m = @ 90Im
7282m = @ 33700m
@ 72194m = @ 202m
800m = @  2000m
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BOF0( kmOBTEINEESE( ImOBTELILL,
@® 9.08km = q080m @ 4.42km = 4420m
@ 0.19km = 1 90m 31.17km = 31170m
@ 3.006km = 3006m @ 90.989km = q0989m
@ 70.6lkm = 706 10m 0.746km = 746m
® 6.405km = 6405m @ 40.016km = 4001 6m
®  0.5km = 500m @ 0.316km = 316m
BOFN( )MOBTENMERIE( HkmOBTHRLILL,
@ 1800m = | .8km @ 450m = 0.45km
@ 69103m = 69.103km @ 806Ilm = 8.06 | km
(® 40008m = 40.008km @ 90 1Im = 0.90 I km
7282m = 7.282km @ 33700m = 33.7km
@ 72194m = 72.194km V&) 202m = 0.202km
800m = 0.8km @ 2000m = 2km




